

$\lim_{x \rightarrow a^+} f(x) = \lim_{x \rightarrow a^-} f(x) = f(a) \Leftrightarrow \lim_{x \rightarrow a} f(x) = f(a) \Leftrightarrow a$	$f$
$\lim_{x \rightarrow a^+} f(x) = f(a) \Leftrightarrow a$	$f$
$\lim_{x \rightarrow a^-} f(x) = f(a) \Leftrightarrow a$	$f$
$M = \text{Max}_{x \in [a,b]} f(x) \quad m = \text{Min}_{x \in [a,b]} f(x) \quad f([a, b]) = [m, M]$	
$]a, b[$	$[a, b]$
$b$	$a$
	$f$

$f(I)$		$I$
$I$	$f$	$I$
$[f(b), f(a)]$	$[f(a), f(b)]$	$[a, b]$
$] \lim_{x \rightarrow b^-} f(x), f(a)[$	$[f(a), \lim_{x \rightarrow b^-} f(x)[$	$[a, b[$
$[f(b), \lim_{x \rightarrow a^+} f(x)[$	$] \lim_{x \rightarrow a^+} f(x), f(b)]$	$]a, b]$
$] \lim_{x \rightarrow b^-} f(x), \lim_{x \rightarrow a^+} f(x)[$	$] \lim_{x \rightarrow a^+} f(x), \lim_{x \rightarrow b^-} f(x)[$	$]a, b[$
$] \lim_{x \rightarrow +\infty} f(x), f(a)[$	$[f(a), \lim_{x \rightarrow +\infty} f(x)[$	$[a, +\infty[$
$[f(b), \lim_{x \rightarrow -\infty} f(x)[$	$] \lim_{x \rightarrow -\infty} f(x), f(b)]$	$] -\infty, b]$

.

$\mathbb{R}^+ \quad x \mapsto \sqrt{x}$

.

$x \xrightarrow{f} f(x) \xrightarrow{g} g(f(x))$   
 $(x \in D_{g \circ f}) \Leftrightarrow (x \in D_f \wedge f(x) \in D_g)$   
 $(x \in D_{f \circ g}) \Leftrightarrow (x \in D_g \wedge g(x) \in D_f)$

$f(I) \subset J : D_g \quad J \quad g \cdot D_f \quad I \quad f$   
 $\{ J \quad g \quad I \quad f \} \Rightarrow \{ I \quad g \circ f \}$

$f(c) = \lambda \quad [a, b] \quad c \quad f(b) \quad f(a) \quad \lambda \quad [a, b] \quad f :$

$f(a) \times f(b) < 0 \quad [a, b] \quad f \Rightarrow ]a, b[ \quad f(x) = 0$

$f(a) \times f(b) < 0 \quad [a, b] \quad f \Rightarrow ]a, b[ \quad f(x) = 0$

$f^{-1}(x) = y \Leftrightarrow \begin{cases} f(y) = x \\ x \in f(I) \end{cases} \Leftrightarrow \begin{cases} y \in I \\ \forall x \in I : f^{-1} \circ f(x) = x \\ \forall x \in f(I) : f \circ f^{-1}(x) = x \end{cases}$

$J = f(I) \quad f^{-1} \quad I \quad f$   
 $f \quad f(I) \quad f^{-1} : J \rightarrow I \quad f : I \rightarrow J$   
 $y = x : \quad f^{-1} \quad f$

$(+\infty) + (-\infty)$
$(0) \times (\infty)$
$\frac{(0)}{(0)} \quad \frac{(\infty)}{(\infty)}$

بالتوافيق

$\ell \neq 0 ; \frac{\ell}{(0)}$

$\frac{1}{f}$	$f$
$+\infty$	$0^+$
$-\infty$	$0^-$

$\sqrt{f}$	$f$
$+\infty$	$+\infty$
$\sqrt{\ell}$	$\ell (\geq 0)$

$\lim_{x \rightarrow +\infty} x^n = +\infty : n \in \mathbb{N}^*$

$\lim_{x \rightarrow -\infty} x^n = +\infty : n$

$\lim_{x \rightarrow -\infty} x^n = -\infty : n$

$\frac{f}{g}$	$f \times g$	$f + g$	$g$	$f$
	$+\infty$	$+\infty$	$+\infty$	$+\infty$
	$-\infty$		$-\infty$	$+\infty$
	$-\infty$		$+\infty$	$-\infty$
	$+\infty$	$-\infty$	$-\infty$	$-\infty$
		$+\infty$	$0$	$+\infty$
		$-\infty$	$0$	$-\infty$
$0$		$+\infty$	$+\infty$	$0$
		$-\infty$	$-\infty$	$0$
$0$	$+\infty$	$+\infty$	$+\infty$	$\ell (\neq 0)$
	$\ell$	$-\infty$	$-\infty$	
$\infty$	$+\infty$	$+\infty$	$\ell (\neq 0)$	$+\infty$
$\ell$	$\ell$	$-\infty$		$-\infty$
$\frac{\ell}{\ell'} (\ell' \neq 0)$	$\ell \times \ell'$	$\ell + \ell'$	$\ell'$	$\ell$